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INSTRUCTIONS

(Please read carefully and comply)

1. Kindly read the complete set of instructions carefully and also see the instructions on
the back side of the OMR Answer Sheet and fill the details in the OMR Answér Sheet
and Question Booklet.

. 2. One paragraph each in Hindi and English is given on page 1. Copying of the paragraph
(in the language as filled in the application form either in Hindi or English) in your
running hand is compulsory. DONOTUSE BLOCKLETTERS.

L (a) Question Booklet Serial No. must clearly be written arid marked in the bubbles in
the space provided in the OMR Answer Sheet.

(b) OMR SheetNo. should be written in the space provided inthe Question Booklet,

4,  After being instructed to open the Booklet, the candidates will open the Seals. Check
whether the booklet contains 100 questions and start the paper from
Page No. 15.

5. Q. No. 1to Q.No. 50 are available in congruent versions of English, Hindi, Urdu and
other regional languages. In case of any doubt or confusion, English version shall
prevail. Q.No. 51 to Q.No. 100 pertains to Hindi & English subject and not translated in
other languages. :

6.  All Questions are of Objective type. There is only one correct answer/best answer to
each question carrying one mark. There will be negative marl-:in'g for wrong answers.
For every wrong answer, 1/3 mark will be deducted.

T In the event of any mistake in any question/s, candidate will not be penalized.
However, no corrections will be made in question/s during the examination.

8. You must use Blue or Black ball-point pen only for answering. Altering of answers once
entered is not permissible. Enter the answers in the OMR Answer Sheet carefuily.

9. Rough work, if any, may be done in the Question Booklet only in the space provided at
the end of the Booklet or at any specified space. No additional paper shall be provided,

: 10. Use of Log tables, Calculator, Slide Rule, Mobile Phone, Pager, Digital diary or any
' other electronic item/instrument etc. is not allowed. Their use will result in
disqualification.

11. No candidate should leave the examination hall before the final bell. The top sheet of
Question Booklet as well as the Answer Sheet should be handed over to the invigilator
before leaving the Examination Hall.
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SECTION-|
GENERAL QUESTION
ENGLISH
PART-|

80% of 50% of 250% of 34 = ?
(A) 38 (B) 40
(C) 43 (D) None of these

The difference between 40% of a number and 28% of the same number is
198. What is the number ?

(A) 1500 . (B) 1650
(C) 1750 (D) 1800

In an examination, 65% of the total examinees passed. If the number of
failures is 420, the total number of examinees is :

(A) 567 (B) 693
(C) 1000 (D) 1200

A man sold his horse for 19800 and gained 10%. The horse was bought
for:

(A) 18000 (B) 17820
(C) %18120 (D) 18300

The value of an article was Z75. First its value was increased by 20% and
then the increased value was decreased by 20%. What is the present
value of the article ?

(A) %78 (B) 74
(C) %76 (D) %72

The ratio of the ages of Meena and Meera is 4 : 3 and sum of their ages is
28 years. The ratio of their ages after 8 years will be

(A) 4:3 (B) 12:11
(C) 7:4 (D) 6:5
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10.

1.

12.

If 3 persons weave 168 shawls in 14 days, how many shawls will
8 persons weave in 5 days ?

(A) 90 (B) 105
(C) 126 (D) 160

Two trains 105 m and 90 m long run at the speeds of 45 km/hr and
72 km/hr respectively in opposite directions on parallel tracks. How much
time do they take to cross each other ?

(A) 5 Seconds (B) 6 Seconds
(C) 7 Seconds (D) 8 Seconds

Veena obtained %8376 as simple interest on a certain sum at 8% per
annum after 6 years. The sum invested by her was :

(A) 17180 (B) %18110
(C) 16660 (D) 17450

The diagonal of a rectangle is 10 cm long and it is equal to twice the
length of the rectangle. The area of the rectangle is :

(A) 25 cm? (B) 403 cm?
(C) 25+/3cm? ' (D) 10 /3 cm?

The vitamin associated with Rickets is
(A) Vitamin A (B) Vitamin B
(C) Vitamin D (D) Vitamin E .

The north —western India receives substantial rainfall during winter months
because of :

(A) South West monsoons
(B) Retreating monsoons
(C) North-East monsoons
(D) Westerly disturbances
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13.  Which is not a Kharif crop ?
(A) Rice (B) Wheat
(C) Paddy (D) Cotton

14. Which one of the following is not a Fundamental Right in India ?
(A) Right to Equality (B) Right against Exploitation

(C) Right to Property (D) Right to Freedom

15.  Which is the master gland ?
(A) Pituitary gland (B) Adrenal Gland
(C) Pancreas (D) Thyroid

16. The sum of the squares of two numbers is 80 and the square of their
difference is 36. The product of the two numbers is

(A) 22 : (B) 44
(C) S8 (D) 116 °

1 _
17. If— = 0.2689, then the value of
3.718

_—
0.0003718

(A) 0.2689 : (B) 2.689

(C) 2689 (D) 26890

0.728 % 0.728-0.272X0.272 __
0.456 i

(A) 3 (B) 4

18.

(C) 2 (D) 1

SLT004415 17 3004



19.

20.

21.

22.

23.

24,

112 =7, then 2 = 5
B~ ena—b_

(B)

(C) (D)

WiNn o3
W | W=

In a family, average age of father and mother is 38 years, whereas the
average age of father, mother and only daughter is 28 years. The age of
the daughter is : ;

(A) 5 years (B) 6 years
(C) 8years (D) 10 years

A man travels 100 km towards South. From there he turns right and
travels 50 km and again turns right to travel 50 km. Which direction is he
from his starting point ?

(A) North (B) North - East
(C) South-West (D) West

Pointing to a man, a woman said, “He is the only son of my mother's
mother”. How is the woman related to the man ?

(A) Aunt (B) Daughter
(C) Niece (D) Sister

Which of the following words would appear in the middle if they are
arranged as in the dictionary order ? '

Delude, Delirium, Defer, Demean, Delete

(A) Delude : (B) Delirium

(C) Defer (D) Demean

If +" means ‘ +', ‘+’ means ‘—', '—"means ‘X’ and ‘x’ means +', then
10+2-15+3x5=2

(A) 10 ' (B) 15

(C) 25 _ (D) 5
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25. In an examination result, Rohit ranks sixteenth from the top and forty ninth
from the bottom. Nine students did not appear in the examination. How
many students are there in the class ?

(A) 64 (B) 73
(C) 74 (D) None of these

'26. Six persons A, B, C, D, E and F are standing in a circle. B is between D
and C. A is between E and C. F is to the right of D. Who is between A and
F?
(A) B (B) C
(C) D (D) E

27. If ‘tee see pee’ means ‘Drink Fruit Juice’, ‘'see kee lee’ means 'Juice is
Sweet' and ‘lee ree mee’ means ‘He is Intelligent’, which word in that
language means '‘Sweet’ ?

(A) see (B) kee
(C) lee (D) pee

28. If the cook is called butler, butler is called manager, manager is called
teacher, teacher is called clerk and clerk is called principal, then who will
teach in the class ?

(A) Cook (B) Butler
(C) Teacher (D) Clerk

29. Choose one from the alternative which is different from the others.
(A) 27 (B) 63
(C) 42 (D) 49

30. If GIVE is coded as 5137 and BAT is coded as 924, how is GATE coded ?
(A) 5427 (B) 5247
(C) 5724 (D) 2547
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31.

32.

33.

34.

35.

36.

37.

Find the odd one out.
(A) Rose _ (B) Lotus
(C) Marigold (D) Lily

Find the odd one out.
(A) BD (B) MP
(G) . HK _ (D) TW

Paddy is related to Field in the same way as Steel is related to --------vn---
(A) Mine (B) Factory
(C) lron (D) Ore

There is certain relationship between first two words. Find out the words
from the alternative which has similar relationship with third word.

Newspaper : Press :: Cloth: ?
(A) Tailor (B) Textile
(C) Fibre (D) Mill

Complete the Series.

ADCGE?
(A) G (B) J
) | (D) L

In the series given, some of the letters are missing, which are given in that
order in one of the alternative. Choose the correct alternative.

ab - ba--ba-
(A) abba (B) baab
(C) baba (D) abab

In the series given, some of the letters are missing, which are given in that
order in one of the alternative. Choose the correct alternative.

a-ba-bb-ab-a
(A) abab (B) baab
(C) baba (D) abbb
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44,

45,

46.

47,

48.

49,

50.

Day and Nights are caused by

1. rotation of the earth on its axis

2. revolution of the earth around the sun

3. inclination of earth’s axis

(A) Only 1 is correct (B) 1 and 2 are correct
(C) 2 and 3 are correct (D) All are correct

Which of the following is a cash crop ?
(A) Maize (B) Potato
(C) Rubber (D) Gram

Bhim Sen Joshi is associated with
(A) Light music (B) Vocal music
(C) Instrumental music (D) Ghazals

Buland Darwaza is located in
(A) Hyderabad (B) Bijapur
(C) Fatehpur Sikri - (D) Delhi

How many spokes are there in our national emblem ‘Ashoka Chakra' ?
(A) 12 (B) 15
(C) 20 vl (D) 24

Which of the following medals was won by India's No. 1 badminton player
Saina Nehwal in London Olympics in 2012 ? :

(A) Gold (B) Silver
(C) Bronze (D) None of these

Which social reformer is associated with the abolition of Sati ?
(A) Dayanand Saraswati

(B) Swami Vivekananda

(C) Raja Ram Mohan Roy

(D) Bal Gangadhar Tilak
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PART-Il /| T —2
HINDI & ENGLISH LANGUAGE QUESTION / fa=dY aitv argsil sy uvy

51.  Which group means "before" ?
(A) forefront, forearm, forethought
(B) prevent, precede, prelude
(C) postwar, postgraduate, postscript
(D) review, revive, reclaim

52.  Fill the correct pronoun to complete the sentence.

My uncle asked my brotherand ............... to dinner.
(A) me (B) |
(C) she (D) them

53. Choose the correct Hindi translation of the following sentence :

"The devastating chemical explosion and fire took away the lives of
hundred and eight people."

(A) TARATS IATATD fAeder g 3T 3 108 AN &1 S ot |
(B) faederrl wrarafis fawpie &R 3 o 108 @RN @ o o |
(C) marafes fawpre 3iR mT &) Tue § 108 T T T3 |

(D) EARATH AP fawpre vd 3mT # 108 Wi el T |

54. Fillin the blank by suitable conjunction.

FONAN BOLEO ovvovoeiniioing you drive.
(A) without (B) unless
(C) until (D) that

55.  Fillin the blank by suitable proposition.

The horse jumped ....... 7 BT 8 the fence.
(A) on (B) over
(C) beyond (D) under

56. Complete the sentence by suitable question tag.

They haven't arrived yet, ................. ?
(A) have them (B) haven't they
(C) has them (D) have they
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57.

58.

59.

60.

61.

62.

63.

Complete the sentence by suitable question tag.

There is a temple near you locality, .................. 2
(A) isit (B) aren't there
(C) wasn't there (D) isn't there

Fill in the blank by suitable verb.

Ana is a versatile person, which enables her to ................ to any
situation.

(A) adapt (B) adopt

(C) adept (D) alleviate

Choose the word from the alternative that best complete the sentence
given below : ;

| painted the house and it ............... out better than | expected.
(A) had turned (B) would have turned
(C) turns (D) turned

Choose the adjective form the option that completes the sentence.

The principal gave no .................... explanations regarding the rustication.
(A) farther (B) further '
(C) elaborated (D) myriad

Directions (Question No. 61 to Question No. 63) Pick up the correct
synonyms for the words given below :

MASSACRE

(A) Stab (B) Slaughter

(C) Murder (D) Assassinate
CANDID

(A) Rude (B) Impertinent
(C) Blunt (D) Frank

Choose the word opposite in meaning to the given word.

RECEDE
(A) Rush (B) Advance
(C) Approach (D) Forward

SLT004415 90 3004



Directions (Question No. 64 to Question No. 65) : In the following
questions first and last part of sentence is given as (1) and (6). Middle
sentence is splitted in four parts P, Q, R, S. You have to choose correct
alternative having correct sequence so that to make meaningful sentence.

64. (1) Western civilization is
(P) in its character that
'(Q) national culture by affecting

(R) itis bound to influence every

(S) so powerful and so uniform

(6) its external way of life.

(A) PRSQ (B) QSRP
(C) RQSP (D) SPRQ

65. (1) Atthe end of the assignment,
(P) the field worker
(Q) submitted his papers
(R) for the work done by him
(S) and also bills
(6) to the office superintendent.
(A) PQSR (B) QPRS
(C) QSRP (D) RSQP

66. Choose the best alternative which best expresses the meaning of the
idiom given below :
To break the ice
(A) To start quarreling (B) To end the hostility
(C) To start a conversation (D) To end up partnership

67. Choose the alternative which best expresses the meaning of phrase given

below

At loggerheads

(A) differing strongly (B) in agreement
(C) in confusion (D) undecided

68. The following sentence be changed into passive voice.
You must look into this matter.
(A) This matter has been looked into by you
(B) This matter may be looked into by you
(C) This matter should be looked into by you
(D) This matter into looked by you
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69.

70.

71.

12,

73.

74.

75.

76.

77.

The following sentence be changed into passive voice.
The teacher punished the boys who had not done their homework.

(A) The boys who had not done their homwork had been punished by
their teacher

(B) The boys were punished by their teacher who had not done their
homework

(C) The boys who had not done their home work were punished by the
teacher

(D) The boys who had not done their homework were being punished by
the teacher

Which of the following is suffix ? |

(A) post (B) ed

(C) ment (D) ch
qifSeT g A geay T & 7

(A) am ®) @

(C) ST (D) ST

fe wreg # ‘amrar uegy A€ R ?

(A) fegrar (B) =TT

(C) dfrar (D) Yerar
=1 4 foxr e & Syt o1 s ga # 7

(A) TR (B) =X

(C) faare (D) famr
o # SuiiRe vree pH AT R 7

(A) forda (B) fammar
(C) gaeH (D) el
T H I SUaT ®

(A) H (B) @

(C) u& (D) 3ma

=1 A st & 98 afy R o1 99 SRR |
(A) afe: + &R (B) aRY + &R
(C) afeR + &R (D) 2 + B
AT H ugad WY BT geR a9 & ?

(A) TOT [y (B) T wfy
() fawrt s (D) smrfe wf
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78. = § 9 dd—wfr go ug -1 B ?

(A) wef¥ (B) T

(C) ey D) @R
79. A T et & qeaw g &1 7= BT |

(A) Tem (B) WETT

(C) #ET (D) HTB
80. fX ¥ fadedl # AT Tsg BT T BT |

(A) HPS (B) SrIwETT

(C) Gl (D) 3TTeT
81. W wreg &1 FHERT wreg BH AT 8 ?

(A) feoraw (B) HHIBY

(C) Y=g (D) Sa=TaTqof
82. ‘I U HI WAL weg qarg ?

(A) Har (B) wadH

(C) WIoT (D) W
83. femd o &1 GRS v BiH @1 g ?

(A) Sifaa) (B) Sitge

(C) Sirge (D) SifdeT
84. 'HITIAHAT &1 YITIIT g gy |

(A) I (B) el

(C) <& (D) fasren
85. ‘B9 BT GITIATE e Gy |

(A) 9™ B) fafy

(C) 9+ (D) 9% ¥ BIg 8l
86. '3 P YATIATHl W& FATY

(A) B (B) i

(C) YR} (D) TARM
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94.

95.

96.

a7.

98.

99.

(A) Taref BISHY URAT HRAT

(B) AT BT B ERI B o1 TgAT
(©) T B forg afterd | dTEy d BT
(D) g+ B T BT

frder: (W4, 95 9 0.9 97)%&@%@0@%%%%
o3 el § W vH wE G|
=757 & Aeg P B TR IA~ HAHE

(A) & (B) @

(C) (D) 3=l
Gﬁq;ﬂﬁa%ﬂ‘eﬂ%ﬁﬁfaﬁ?%’

(A) URTaCTHT (B) I3
(C) TRIISIE! (D) ORI
IR 3R ¥ ERY AT ArsIfed B drelt

(A) afRfer (B) ufvd
(C) uRy (D) TR

frder (9. 98 9§ W9 100) A RY T T @ HO AT A Ffe
2| o W ¥ Ffe B, I AT BT AERE (A), (B), (C) 3reral (D) &
ATIhT BTN & |

el 3 FEST BT/ d8d g1 grel o fhv A/

(A) (B)
IS THB! WIS /B aATell el ol |
(C) (D)

mvﬁmﬂmﬁwmaﬁ/mﬁaﬁﬁﬁa@zﬁ%ﬁnﬁ&ﬂ/
(B)

(A)
a2, /99 e A€ v A |
(C) (D)

100, ¥ TG OE /TS B T o/ fbeg A BR /W e e |

(A) (B) (C) (D)
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